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General Instructions :
(i)  This question paper contains two parts A and B.
(ii) Part A is compulsory for all.
(iii) Part B has two options — Option — I Analysis of Financial Statements and Option — Il
Computerized Accounting.
(iv) Attempt only one option of Part B.
(v) All parts of a question should be attempted at one place.
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gue - &
PART - A

(ATEAET GHT T Hrafat & foe sraie)

(Accounting for Partnership Firms and Companies)

1. T[T T I U ®H % AERR 9 | 9 B H S 37T WSl i YolTT 57 °ed o | AEienT %
AfReR SAfeRTal S UHT ol o STt 60 e ST [ 37k ST %H | Woler =@l feam T
Hehdl |
Gupta and Sharma were partners in a firm. They wanted to admit two more members in

the firm. List the categories of individuals other than minors who cannot be admitted by

them.

2. =g e 7 % 10 W % 100 T 30 M T 2 U S B g e AR H I T
T TR BT Y T dr | T 2 f 3797 1 A AT ST Wil S o |

TS DT SATTRHAT T Bl TUMT BT T T 37 79T 7 = 79 T ST qepe1 € |

Y Ltd. forfeited 100 equity shares of I 10 each for the non-payment of first call of ¥ 2

per share. The final call of ¥ 2 per share was yet to be made.

Calculate the maximum amount of discount at which these shares can be

re-issued.

3. %091 T UH FF o GRRER & TA AN 4 ;3 % SO | ed & | 36 T H T A4
TERR FA=T | &, @ qAT 7T o e F37 o 3T 3:2: 2 A1 | & 370+ AT &l Y4 907 7T %

T H T 41 | @ % G0 bl UMT it |

A and B were partners in a firm sharing profits and losses in the ratio of 4 : 3. They
admitted C as a new partner. The new profit sharing ratio between A, B and C was

3:2:2. A surrendered % of his share in favour of C. Calculate B’s Sacrifice.
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4. O 997 9 Uh B & WIEER & T AN SR §ied o | 3D = gsit sEen: € 1,00,000 e
% 50,000 off | WEEH Hot@ ¥ Yt W 10% AT AT & U@L o1 | 31 |, 2016 H
U T Y o [T YSil UX SATST G {41 T o 1T ST SeaRT 3 ST 14T |
T (e o TG & STEvTH FHEN Ui Hig | 1
P and Q were partners in a firm sharing profits equally. Their fixed capitals were
% 1,00,000 and X 50,000 respectively. The partnership deed provided for interest on

capital at the rate of 10% per annum. For the year ended 31* march, 2016 the profits of

the firm were distributed without providing interest on Capital.

Pass necessary adjustment entry to rectify the error.

5. T fames 7 ¥ 100 5% % 1000, 9% FOTE B 6% F dg W WG H % (g TEET
3B fohT | 1,200 FOTHAT o foT@ 376" T Y | W SMASHT i SFUNGER TR T
TS Y fem T |

IE A §U R AR ART S SEEH o T HEAT AT, TN & AT & forw
ST IS AfATedt HifT | 1

X Ltd. invited applications for issuing 1000, 9% debentures of ¥ 100 each at a discount
of 6%. Applications for 1,200 debentures were received. Pro-rata allotment was made to

all the applicants.

Pass necessary Journal Entries for the issue of debentures assuming that the whole

amount was payable with applications.

6. T WEERI BH T T SHTeh e glal & ? 370+ ST o 99 § SR ST | 1

Does partnership firm has a separate legal entity ? Give reason in support of your

answer.
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T TE.TE, a7 e ¥ 100 9&F & 500, 9% FOE S 8% & 9y W fha
T o, i % 10 U o qHAT e | URafad fohar | Har 37 S e 25% % St
X o1 TR | SO o TR 9T A Wl 3Tt ek Srafetiad e fhar T ¥ |

319 ST W Tl ¥ S §T 9% FOTIA! % GHAT S H GNEc W SERTE A
yfaftedt iy |

XXL Ltd. converted its 500, 9% debentures of ¥ 100 each issued at a discount of 8%

into equity shares of ¥ 10 each issued at a premium of 25%. Discount on issue of

debentures has not yet been written off.

Showing your workings clearly pass necessary Journal Entries on conversion of 9%
debentures into equity shares.

%, W, AT TH FH H GEER 4 qAM 3 : 3 :3: 1% A § @ dted & | 31 SHE,
2017 1 T TR YT FX [T | &, @ AN T A AaqA F AN 5: 1 : 1 % U § ded
1 O T | =1 o STEehIeT T80T 3t WX A Sl TATT ol o < 4,90,000 Toam T |

31O HRHRT 0T Sl T IR §U H o TR TeUT i I AN & A@IH o ol B
1 &I | SERISH AT Hfefe Hiry |
A, B, C and D were partners in a firm sharing profits in 3 : 3 : 3 : 1 ratio. On

3177 anuary, 2017 D retired. A, B and C decided to share future profits in the ratio of
5:1:1.0n D’s retirement the goodwill of the firm was valued at I 4,90,000.

Showing your working notes clearly pass necessary Journal Entry for the treatment of

goodwill in the books of the firm on D’s retirement.

M fafaeg T 10 U & Qa3 ° fawad T 8,00,00,000 Ht 2Aeswd st o arer
USTighd € | HEOAT B0 SR = qOT ued Uit % 4,00,00,000 o | I Aagehi i ISR
TS A & TAT ST HYHR T & ATHIT &350 o forehre o foT st = 3T oot § ueh
W TR TohTE o1 TG 1 f01F ferar | et 3 ofer, SR qen 45 | ierel fasr
51 ! T 1 ot FuT forar | 1o el faig savasmansti sl 1w & fold et =5
% 10 9% & 1,00,000 THaT 37T q41 % 100 94 % 10,000, 9% FOT9= & 1A i o
foran | FoTa= ST W Ot St o g AT AT | WHAT 3 q RO 1 A quiew ¥
MR 1 7T 1 1000 3790 1 Uk 37eRep T 2 Ui 3797 1 Sw AT AT 3H7 7T et
o 3T & |

T ATaT=E, 2013 6 G 111 WG & SR BT % e foeror & oier 9o
T I BT | TF Tohwal 31 Hodi bl Tea | BT {5778 ST Tk s ot € |
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Akash Ltd. is registered with an authorized Capital of ¥ 8,00,00,000 divided into equity
shares of I 10 each. Subscribed and fully paid up share capital of the company was
% 4,00,00,000. For providing employment to the local youth and for the development of
the rural areas of the Jammu and Kashmir State the company decided to set up a food
processing unit in Anantnag district. The Company also decided to open skill
development centres in Ladakh, Srinagar and Punch. To meet its new financial
requirements the company decided to issue 1,00,000 equity shares of ¥ 10 each and
10,000, 9% debentures of I 100 each. The debentures were redeemable after five years.
The issue of equity shares and debentures was fully subscribed. A shareholder holding

1,000 shares failed to pay the final call of X 2 per share.

Present the share capital in the Balance Sheet of the company as per the provisions
of Schedule III of the Companies Act, 2013. Also, identify any two values that the

company wishes to propagate.

10. sie. fatee 3 &, fafies & 7= & % 6 | < famee 7 & famee &t 7 7R |
BUGIEREDIE
() T 10 vF & 5,000 FHAT A B 30% & AT W FHIHT B |
(i) ¥ 100 Y= % 1000, 8% O I 10% % oz W T H2eh |
(iii) 31 T 48,000 T &1 HIE G 37 Teb T S |
S, feifide = gkl § TRkt & ha a1 %, fafqee S T YA S AEvdeh ISHHEE
et i | 3
Z 1td. purchased machinery from K Ltd. Z Ltd. paid K Ltd as follows :
(i) By issuing 5,000 equity shares of ¥ 10 each at a premium of 30%.
(i) By issuing 1000, 8% Debentures of I 100 each at a discount of 10%.
(iii) Balance by giving a promissory note of ¥ 48,000 payable after two months.

Pass necessary journal entries for the purchase of machinery and payment to K Ltd. in

the books of Z Ltd.
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11. a9, 319 TIT 3R U BH o HSER & @21 2 : 2 : 1 % 0 § o ated & | ®F 370!
Tk Ui a9 31 A B a5 Al § | 30 FATER, 2016 S AT H @ & T | GrERR

Torg T a1 o et TEieR S gog W 39 (e i T 37 8

(1) ST ISt @I T 99 q&1 GoTt W 12% AN &t | 1-4-2016 S 5T & Ysit @t 1

9 T 1,00,000 2T |

(2) TG F U H FH 6 AN H ITH A, S0 Jedieh Ut av & g | & o &
TT g Tohar AT S IR 25% ot 1 30 TR, 2016 99 9 & fashd €9,00,000 T |

(3) Y B ST H IR 9T | HIIT Sl G W HH Hl S B 7w T 1,50,000 TFar

|

RN Tolg H I8 ot Mag o1 6 §d |EiER & 53 AT § § F= o werdt o S

(1) T & a9 | ITH I | 30 TIaT=R, 2016 TH HIMT T 30T T 4,000 T |

(2) 3RO W 6% SNk =0T STt T % 120 i T2 |

HE & TOEe o UEqd A o o1 BH & oi@uTel 5 TSI ST @IT JAR {haT W Steal §
3T TH TR DI G | B & I@uTeT §RT AIR {haT T HET 1 GSi @i A e o

™
Dr. HEIT T STt Qe Cr.
fafer feraror T fafer faaror T
4 4
2016 2016

fga=30 | 4,000 1| 1,00,000
............... - Em|30 | 6,000
............... - eereeeeeee | 90,000
............... 40,000
............... 20,000
2,56,000 2,56,000

T 3 doh T = R
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Sandeep, Mandeep and Amandeep were partners in a firm sharing profits in the ratio of
2 : 2 : 1. The firm closes its books on 31* March every year. On 30" September, 2016
Mandeep died. The partnership deed provided that on the death of a partner his

executors will be entitled to the following :

(1) Balance in his capital account and interest @ 12% p.a. on capital. On 1-4-2016 the
balance in Mandeep’s Capital Account was < 1,00,000.

(2) His share in the profits of the firm in the year of his death which will be calculated
on the basis of rate of net profit on sales of the previous year which was 25%. The

sales of the firm till 30 September, 2016 were < 9,00,000.

(3) His share in the goodwill of the firm. The goodwill of the firm on Mandeep’s
death was valued at ¥ 1,50,000.

The partnership deed also provided that the following deductions will be made from the

amount payable to the executor of the deceased partner :

(1) His drawings in the year of his death. Mandeep’s drawings till 30 September,
2016 were % 4,000.

(2) Interest on drawings @ 6% per annum which was calculated as I 120.

The accountant of the firm prepared Mandeep’s Capital Account to be presented to the

executor of Mandeep but in a hurry he left it incomplete. Madeep’s capital Account

prepared by Accountant of the firm is shown below :

Dr. Mandeep’s Capital Account Cr.

Date Particulars | Amount | Date Particulars | Amount
L4 4
2016 2016

Sep.30 | il 4,000 April 1 | ..oooenininen. 1,00,000
L - Sep.30 | ooeiiiiinnnn. 6,000
L - L 90,000
L 40,000
L 20,000
2,56,000 2,56,000

You are required to complete Mandeep’s Capital Account.
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12. YA 77 ST T TH o WIERR & TA7 1 : 2 o ST § o died & | 30! S ST ShAs:
% 2,00,000 T  3,00,000 = | 1 3T, 2016 T FHAR HN A & 1/4 96T % [0 T 741
TEIER @1 T | fRem 370t Uit 3 few 3 2,00,000 e f9 36 @ 16T sht Ufstar bt
TE T 7T ST &7 | foheTiT 3 T ol 3791 ST 60T § U foham |
TSF¥TR o TaIT WX H ol AT ol TUMT IS T 3, TE0T TF THR o 2 &1 31T ht
UM ST | IR & JaeT W A1 & oi@ich o [T 3Teeass Isen uiaie ot it
g T §U o FeReT Tty STeeiTy &1 ST ST =TS el ot |

Karan and Varun were partners in a firm sharing profits and losses in the ratio of

1 : 2. Their fixed capitals were ¥ 2,00,000 and ¥ 3,00,000 respectively. On 1 April,

1
2016 Kishore was admitted as a new partner for Zth share in the profits. Kishore brought

% 2,00,000 for his capital which was to be kept fixed like the capitals of Karan and
Varun. Kishore acquired his share of profit from Varun.

Calculate goodwill of the firm on Kishore’s admission and the new profit sharing ratio
of Karan, Varun and Kishore. Also, pass necessary Journal Entry for the treatment of
Goodwill on Kishore’s admission considering that Kishore did not bring his share of

goodwill premium in Cash.

13. 9, Tie, Wied T°1 80 T ®F & GERR 4 a1 4 : 3 02 ;1 % I # o ared 3 |
1-4-2016 =t 3eh1 Teifet foraror fe weh & o

1-4-2016 T I\, HE, |- 91 2 &1 feafa faawor

Gt T gEtaEt 9,00,000
™ 4,00,000 =Te] Tt 5,20,000
AT 4,50,000
T 2,50,000
& 2.00,000 | 13,00,000

FTHTR &ifagfe Tora 1,20,000

14,20,000 14,20,000
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SRR fafer & TR A wias H o 1:2: 3 2 4 % SO | dfed o i R | 39 32

% o0 w9 @l @d ® gediwd 2 1,80,000 AT T | WERR 7 = 6 R 7 o o

fEVI?JT:

(i) IR &idqrd e % SEE 2 1,50,000 TR T |

(i) =] WA Wodd TEERT & UEl B A o U § HuEitId e |
QA G, TR & Yol @I o1 giiad % o1 fefq foaor dar it | 6

Ram, Mohan, Sohan and Hari were partners in a firm sharing profits in the ratio of

4:3:2:1.0n 1-4-2016 their Balance Sheet was as follows :
Balance Sheet of Ram, Mohan, Sohan and Hari as on 1-4-2016

. Amount Amount
Liabilities Assets
(4 (4
Capitals : Fixed Assets 9,00,000
Ram 4,00,000 Current Assets 5,20,000

Mohan 4,50,000
Sohan  2,50,000
Hari 2,00,000 13,00,000

Workmen
Compensation Reserve 1,20,000

14,20,000 14,20,000

From the above date the partners decided to share the future profits in the ratio of
1:2:3:4. For this purpose the goodwill of the firm was valued at ¥ 1,80,000. The

partners also agreed for the following :
(i) The claim for workmen compensation has been estimated at ¥ 1,50,000.

(i1) Adjust the capitals of the partners according to new profit sharing ratio by

opening partner’s current accounts.

Prepare Revaluation Account, Partners Capital Accounts and the Balance Sheet of the

reconstituted firm.
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14.

15.
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1-4-2015 & = &Te. e 7 ¥ 100 9% & 1000, 9% FOTHAT 1 FH 6% % 95 T
TR | SROTTS T SN A S o GvET 10% & STeT W HET ¢ |

31-3-2016 T TATE g qY & [oTT RO o 0= T FOT0E1 ) AT 0 Haftedt a8 7
TT T o =7 30 faewe @9 31 @/ i 37 € a91 id W Y weldl B W 10% ¥ |
HET ST Tk AT 31 HTE i o LAl § |

On 1-4-2015 V.V.L. Ltd issued 1000, 9% debentures of ¥ 100 each at a discount of

6%, redeemable at a premium of 10% after three years.

Pass necessary journal entries for the issue of debentures and debenture interest for the
year ended 31-3-2016, assuming that interest is payable on 30™ September and
31" March and the rate of tax deducted at source is 10%. The company closes its

books on 31* March every year.

T WEIR % % foees & 9ud (=7 sraeneti § STevash AsHEET Uareat S

(i) UF WERR, TA, H GEeT uka & @@ % fou fFga fF m Sae o s3
% 10,000 I feam T |

(i) WERE, TH 7 T 8,000 foues =& &1 e 6 |

(iii) ferered == ¥ 5,000 & |

(iv) TERR, W, S foue uihar #t 3@ & faw Fge fear mn e fow 3@ 7,000 &
AT T A1 | W, foaed 2 e I & (o0 TeHd gofl | andtash faeed & T 4,000
& | FSTeRT oA Ot FRT oA T4 |

(v) U GERR, T, #i [Oaeq F1 i 3@y % fow e e e s fe 3@ 9,000
AT 3T AT | TF [ A A ged A W TEHd gal | Ao foHed =4
% 4,000 T TTAE ®H FRT fomam =T |

(vi) UH WERR, ¥, H OEe uha ®f s@@ & fow e a1 e e sy
T 18,000 AT 3T A1 | R A T 18,000 % Wik ! A % €I H o+ H! TeArd |
Wik I Tt & agett Wi H IR e a7 747 T |

Pass necessary Journal Entries on the dissolution of a partnership firm in the following

cases :

(1) L, apartner, was appointed to look after the dissolution process for which he was
given a remuneration of < 10,000.

(ii) Dissolution expenses % 8,000 were paid by the partner, M.

(iii)) Dissolution expenses were < 5,000.

(iv) P, a partner, was appointed to look after the process of dissolution for which he
was allowed a remuneration of I 7,000. P agreed to bear the dissolution
expenses. Actual dissolution expenses T 4,000 were paid by P.

(v) N, a partner, was appointed to look after the process of dissolution for which he
was allowed a remuneration of ¥ 9,000. N agreed to bear the dissolution
expenses. Actual dissolution expenses T 4,000 were paid by the firm.
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(vi) Q a partner was appointed to look after the process of dissolution for which he
was allowed a remuneration of ¥ 18,000. Q agreed to take over stock worth
% 18,000 as his remuneration. The stock had already been transferred to
Realisation Account.

16. TTHTA, famee 7 ¥ 10 ¥ % 1,00,000 THAT ST Sl T 6 Ul 3797 o Ao W i
A & T STres Al ford | T ST ST e WeRR @ AT o
3Mes" W T 4 vfa 319 (3 2 Afaem afgd)
3TMees W 5 7fd 37T (% 2 3tfgemy |ied)
T AT W T 4 vfq 3191 (3 2 2Afems qfed)
O AT ST AT W — I AT
WW:H&I@%}WI
400 3791 % Uh R, FAR, = e AT H1 IAE 81 [Ha1 q&r 1000 37T & TH gRF,
Fd, 7 3TEeA AR & T AR SRR AT P X AT | 3TEeA & e 99 FAR &
TR T &1 Y ToTaT 77T Seh Tt WeH AT T H/irl 7€ | 300 370 % Ueh ¥Re, T, A
T ATEAT T ST A Tél fRaT T 600 3T 3 Ueh &R, TITel, = Werd AreT 1T o qrey
TE e TRT AT o AR FY AT | e Freen AT vt o qRed g T & A9
T T foTal T | Sk T GERI a3t areE i /Rl T | SO Ared A W S
Tt T T & T |
207 ot T |l 3fen Wt ¥ 9 ufd 3T qut ve g fitaa e T e |
ST TS o TT ST 3t qRAehl | STeeash AsHHET Hfafteat Hif |
reran
TR, fafmes 7 T 10 U&® % 1,00,000 F9AT 3790 I T9ed W AT 1A & fore

3MERA AT fSha | T T = 77 UehIe & ST o

3MeR WX T 3 Wt 3w

e W T 4 Ufq 3i9r

TH qAT A Jremr 1 T 3 Uid 379 |
e i T et SfieT §I | 20% TSI % SATESAT B ¥E Y [§AT AT IAT SEE [
U T S TS | AT 3TEEehT o T YhR F 3Tl T 74T

q&
I 1,60,000 80,000
I 80,000 20,000

3MEE WX U AR Wi 1 AHIEISH STee T W Ue Afam IreqT W g AR § T

T T3 | | AT {7 o g 9T U & T, S0 [ % Ush IERE hi SIgh S 320
39Tt % ToTU STrars foham o | 3eh 319l ot &XuT oY foram T | &¥on Tk 12 et &t 3 15 ufa
3797 qUT R O TR R e e |

S ol & folt TeRIUe. fafiee &l qedsl § STevas AsHmar Jiaredt S |
SMEAVIFHATIR 37T ITeT AT AT ST A1 Tl GHery | 8
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67/1/2

AXN Ltd. invited applications for issuing 1,00,000 equity shares of I 10 each at a
premium of ¥ 6 per share. The amount was payable as follows :

On Application ¥ 4 per share (including % 2 premium).
On Allotment X 5 per share (including ¥ 2 premium).
On First Call % 4 per share (including < 2 premium).
On Second and Final Call — Balance Amount.

The issue was fully subscribed.

Kumar the holder of 400 shares did not pay the allotment money and Ravi the
holder of 1,000 shares paid his entire share money alongwith allotment money.
Kumar’s shares were forfeited immediately after allotment. Afterwards first call was
made. Gupta a holder of 300 shares failed to pay the first call money and Gopal a
holder of 600 shares paid the second call money also alongwith first call. Gupta’s
shares were forfeited immediately after the first call. Second and final call was made
afterwards. The whole amount due on second call was received.

All the forfeited shares were re-issued at ¥ 9 per share fully paid up.

Pass necessary Journal Entries for the above transactions in the books of the company.
OR

XL Ltd. invited applications for issuing 1,00,000 equity shares of ¥ 10 each at par. The

amount was payable as follows :
On Application ¥ 3 per share.
On Allotment X 4 per share.
On First and Final Call X 3 per share.

The issue was over-subscribed by three times. Applications for 20% shares were
rejected and the money refunded. Allotment was made to the remaining applicants as

follows :
Category No. of Shares Applied No. of Shares Allotted
I 1,60,000 80,000

II 80,000 20,000

Excess money received with applications was adjusted towards sums due on

allotment and first and final call. All calls were made and were duly received except
12



the final call by a shareholder belonging to Category I who has applied for 320 shares.
His shares were forfeited. The forfeited shares were re-issued at ¥ 15 per share fully

paid up.

Pass necessary Journal entries for the above transactions in the book of XL Ltd.

open calls in-arrears and calls in advance account whenever required.

17. =g q€1 3R U ®H o WEIGR & a2 3 : 2 % 3 § @ dfed & | 31 A, 2016 i 36
Tt fereror =7 Wb & o

31-3-2016 &t TG AUT AR T et faawor

N QIR ot i
3 4
fafir= oFgR 20,000 | TS 12,000
Tad T o TTT uTae 2,000 | 3_R 18,000
3T A 3,000 | fH 20,000
=T G 5,000 | ®HER 40,000
ISt A qAT HRI 40,000
T 60,000
3R 40,000 | 1,00,000
1,30,000 1,30,000

IR Tty BT, T w1t o | Gl S A9 & 1/6 9T % [T Ueh 741 WEIRR S=1ET T4

() = STu STt % fetw ¥ 30,000 T T Wi % S 9n % e 310,000 R,
TSTEeRT 3TTeT T oo T 3R ERT S0 T fordl ST |

(i) % 1,500 % IR T AT FON & €T H (ARG HY AT ST T RRT TR FIGTe
Te I FON % AT 5% 1 e o S |

(iii) T&T AT B YA T (AT ST |

(iv) WH W 10%, TR T T 500 TAT @A T AR T 8% AAsT™ THIET ST |

(v) Teafer foeror 5 &1 3@ T3 2,500 % oen o1 o fhar S |

(vi) 2,100 T UH -8R, ST o1ET Qeashi § el {61 T €, 1 i@l o ST |

HH i YR T G % YA W ST THeHl o ol STTa9eeh I Hfaftest i |
YAt
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TH, UF 97 ST U %H o QPG & 947 5 : 3 : 2 & U | o sied o | 31 A1, 2016
3! Tt faaRor f wepr 3 o

31-3-2016 &1 TH.UA, F2T St BT fefa faamor

TR’ 55,000 | g 40,000

W G 30,000 | TER 45,000
STt @ HT AT 5,000 40,000
™ 1,50,000 ik 50,000
o 1,25,000 ENIE) 1,50,000
Sl 75,000 | 3,50,000 | T 30,000
T 1,00,000
IR EREIG)| 25,000
4,35,000 4,35,000

IR T st U7 F STaehTeT UevT feRar qAn e WY Wi ge

(i) %2,000 F IR BT T FOM o T H TUfcIiad [har STE T SR T FGme qor
oI RN o T W ot 5% U% X@T ST |

(ii) Ul I YUId: STUTAE AT ST T ieh, TRl Ue e W 5% Hedgrd ohma
ST |

(iii) ¥ 10,000 T TH TR, TG 1@l &1 {ohaT T4 &, M oham fhar SR |

(iv) UF @1 ST 9T § o 2 ¢ 3 % S ¥ S |

(v) TH % 3TTHRT TgU F- W EH i &A1d 1 gedishd T 3,00,000 fam = |

TH & TR TEUT X T SIS Tl o [T FH I JXARl | TEvTEH IS Hfafeat

HIT |

W and R are partners in a firm sharing profits in the ratio of 3 : 2. Their Balance Sheet
as on 31% March, 2016 was as follows :
Balance Sheet of W and R as on 31-3-2016

Liabilities Amount Assets Amount
3 3
Sundry Creditors 20,000 | Cash 12,000
Provision for Bad Debts 2,000 | Debtors 18,000
Outstanding Salary 3,000 | Stock 20,000
General Reserve 5,000 | Furniture 40,000
Capitals : Plant & Machinery 40,000
w 60,000

R 40,000 | 1,00,000

1,30,000 1,30,000

67/1/2 14
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1
On the above date C was admitted for gth share in the profits on the following terms :

®
(ii)

(iii)
(iv)

)

(vi)

C will bring ¥ 30,000 as his capital and ¥ 10,000 for his share of goodwill
premium, half of which will be withdrawn by W and R.

Debtors % 1,500 will be written off as bad debts and a provision of 5% will be
created for bad and doubtful debts.

Outstanding salary will be paid off.

Stock will be depreciated by 10%, furniture by I 500 and Plant and Machinery
by 8%.

Investments ¥ 2,500 not mentioned in the balance sheet were to be taken into
account.

A creditor of ¥ 2,100 not recorded in the books was to be taken into account.

Pass necessary Journal Entries for the above transactions in the books of the firm
on C’s admission.

OR

M, N and G were partners in a firm sharing profits and losses in the ratio of 5:3:2. On
31-3-2016 their Balance Sheet was as under :

Balance Sheet of M, N and G as on 31-3-2016

Liabilities Amount Assets Amount
3 3

Creditors 55,000 | Cash 40,000
General Reserve 30,000 | Debtors 45,000

Capitals : Less Provision _ 5,000 40,000

M 1,50,000 Stock 50,000

N 1,25,000 Machinery 1,50,000

G 75,000 | 3,50,000 | Patents 30,000

Building 1,00,000

Profit & Loss A/c 25,000

4,35,000 4,35,000

M retired on the above date and it was agreed that :

(1)
(i)
(iii)

(iv)
)

Debtors of ¥ 2,000 will be written off as bad debts and a provision of 5% on
debtors for bad and doubtful debts will be maintained.

Patents will be completely written off and stock, machinery and building will be
depreciated by 5%.

An unrecorded creditor of 310,000 will be taken into account.
N and G will share the future profits in the ratio of 2 : 3.
Goodwill of the firm on M’s retirement was valued at ¥ 3,00,000.

Pass necessary Journal Entries for the above transactions in the books of the firm on
M’s retirement.

15 [P.T.O.



18.

19.

20.

21.

Qe -9

PART -B

famea - 1

Option — I

(faretar faaont @t ferveraom)
(Analysis of Financial Statements)

HE T Vhe oo I DIGH IF HACT Yot H HH T arare & Jhg Hag Hf
FETUY, FTUTT STIaT SHH s UG el &AM | 370 3T % FHAT H HROT I |

‘Net decrease in working capital other than cash and cash equivalents’ will increase,

decrease or not change cash flow from operating activities. Give reason in support of

your anSwer.

Uehg TalTe foaRoT FIR I T “SATST U AT o T Ue Wit ht” 69 Feh s Tiiafary
HHET ST € 2

‘Payment and Receipt of interest and dividend’ is classified as which type of activity
while preparing cash flow statement ?

forira foreron & faveiuor i [l IR HAreT S Sooig HiT |

State any four limitations of analysis of financial statements.

QI AT T1ietd eid &, i & § @ qar 6T S & | 3 faazor T gemT =1 &
2t & ST SMYR W Ush FHE S Arie Ue foxi feafa o fove | e et sk
€ Tk Tk SUANTHAT T ST & THST Woh AT RN SUANT 370 37freh forar o arefqot
T F TF |

IR FoF § UF 2] a1 qodi H T Hiy e & fHa FeA o 3o fomia
ToeR0T IR Fd THT W@ AT | I8 ot oo iU foh s SItafEm, 2013 &0 gE 10
% SR UFH Fr o feafd foeror o 71wl &t fo6A-fohm i fiesl e Su-viuei &
ST I STRAT |

=T G, Y- 3TaTe 0T T A, YSITd i Wt W e fesie |

67/1/2 16



Financial statements are prepared following the consistent accounting concepts,
principles, procedures and also the legal environment in which the business
organizations operate. These statements are the sources of information on the basis of
which conclusions are drawn about the profitability and financial position of a
company so that their users can easily understand and use them in their economic

decisions in a meaningful way.

From the above statement identify any two values that a company should observe
while preparing its financial statements. Also state under which major headings and
sub-headings the following items will be presented in the balance sheet of a company

as per Schedule III of the Companies Act 2013.

General Reserves, short term loans and advances, Capital work in progress and design.

22. UH AT BT A AT 0.8 : 1 & | HRUT Ted TRy (o FHe=faiad oiagal & alerd
STIUTE SIS, ST 37ell SH IS TN el &rT :

(1)  %2,000 % &I 3RT 15 |
(2) %500 geE ST WiHIT T ST |
(3) ¥ 3,000 % ATt I UK fosha |

(4) 5,000 % T <7 o1 T g8 IR & T A | 4

The Quick ratio of a company is 0.8 : 1. State with reason whether the following

transactions will increase, decrease or not change the quick ratio :
(1)  Purchase of loose tools I 2,000.

(2) Insurance premium paid in advance ¥ 500.

(3) Sale of goods on credit ¥ 3,000.

(4) Honoured a bills payable ¥ 5,000 on maturity.

67/1/2 17 [P.T.O.



23.

67/1/2

31 O, 2016 i AR.TF. fafee 1 feafq foeror i R 4 o -
AR ud, fafees %131 9, 2016 1 fexfa faewor

P =ﬁz' 31-3-2016 | 31-3-2015
q. 4 4
[ |HAT T ATt
(1)  3ferem fAfeat
(a) 79T Yol 9,00,000 |  7,00,000
(b) TIF TS Iy 1 2,50,000 |  1,00,000
(2) 37l SFAY
ZreehretI=T 0T 2 4,50,000 | 3,50,000
(3) ] 3L
(a) TGN 0T 3 1,50,000 75,000
(b) TIHAN TEEH 4 2,00,000 |  1,25,000
E] 19,50,000 | 13,50,000
II. uRgmfaat
(1) 3/ aRE Tt
(a) T ErEt
i) 9 5 14,65,000 |  9,15,000
(i) o/ 6 1,00,000 | 1,50,000
(b) 3= AW 1,50,000 |  1,00,000
(2) =e uREEtEt
(a) Te] FqarwT 40,000 70,000
(b) T (AT 7 1,22,000 72,000
(c) Ihg AT Uhg oA 73,000 43,000
F 19,50,000 | 13,50,000

18




i e

=ﬁ;— s 31-3-2016 | 31-3-2015
9. ? ?
TOg U I (MR TAH-8T ToakoT
L)) 2,50,000 | 1,00,000
2,50,000 | 1,00,000
EHIAN R0 — 12% FOTIS 4,50,000 | 3,50,000
4,50,000 | 3,50,000
BTG 0T — oo STrefeshy 1,50,000 75,000
1,50,000 75,000
4, | TIHCAA TEL — YA ST 2,00,000 | 1,25,000
2,00,000 | 1,25,000
S S
EiCE) 16,75,000 | 10,55,000
T TooreTd (2,10,000) | (1,40,000)
14,65,000 | 9,15,000
3T ot
=a 1,00,000 | 1,50,000
1,00,000 | 1,50,000
e (W)
wieh (forsht o ferw =reT) 1,22,000 72,000
1,22,000 72,000
SAfefer q==
(1) % 1,00,000, 12% FoTo=T 1 FHT 31-3-2016 T T T |
(2) 99 uH T D e T 80,000 o FAT N W Ut Joagrd T 40,000 o7 H
% 10,000 T B 9T <=1 74T |
ThE T8 {60l daR HifST |

67/1/2
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Following is the Balance Sheet of R.S. Ltd as at 31° March, 2016 :
R.S. Ltd. Balance Sheet as at 31-3-2016

Particulars Note | 31-3-2016 | 31-3-2015
No. z z
L Equity and Liabilities
(1)  Shareholder’s Funds
(a) Share Capital 9,00,000 7,00,000
(b) Reserves and Surplus 1 2,50,000 1,00,000
(2) Non-current Liabilities
Long-term borrowings 2 4,50,000 3,50,000
(3) Current Liabilities
(a)  Short-term borrowings 3 1,50,000 75,000
(b)  Short-term provisions 4 2,00,000 1,25,000
Total 19,50,000 | 13,50,000
II.  Assets
(1) Non-current Assets
(a) Fixed Assets
(i) Tangible 5 14,65,000 9,15,000
(i) Intangible 6 1,00,000 1,50,000
(b) Non-current Investments 1,50,000 1,00,000
(2) Current Assets
(a) Current Investments 40,000 70,000
(b) Inventories 7 1,22,000 72,000
(c) Cash and Cash Equivalents 73,000 43,000
Total 19,50,000 | 13,50,000

20
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Notes to Accounts :

Note 31-3-2016 | 31-3-2015
Particulars
No. 4 4
1. | Reserves and Surplus (Surplus i.e. Balance
in the Statement of Profit and Loss) 2,50,000 1,00,000
2,50,000 | 1,00,000
2. | Long-term borrowings — 12% Debentures 4,50,000 | 3,50,000
4,50,000 | 3,50,000
3. | Short-term borrowings — Bank overdraft 1,50,000 75,000
1,50,000 75,000
4. | Short-term provisions — Proposed Dividend 2,00,000 1,25,000
2,00,000 | 1,25,000
5. | Tangible Assets
Machinery 16,75,000 | 10,55,000
Accumulated Depreciation (2,10,000) | (1,40,000)
14,65,000 | 9,15,000
6. | Intangible Assets
Goodwill 1,00,000 1,50,000
1,00,000 | 1,50,000
7. | Inventories
Stock in trade 1,22,000 72,000
1,22,000 72,000

Additional Information :

ey
2)

3 1,00,000, 12% Debentures were issued on 31-3-2016.
During the year a piece of machinery costing ¥ 80,000, on which accumulated

depreciation was < 40,000, was sold at a loss of I 10,000.
Prepare a Cash Flow Statement.

21
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PART -B
fawew — 11
Option - 11
CIREaRERtEICE)

(Computerized Accounting)

18. ‘ST SE H HT I T 9

What is a ‘Database’ ?

19. iRl S G, Ufha0T Te 3TET0T ot alieh & el T e WTeaaR & {oheal o akiehl &
T ST |

Name any two software tools for organizing, processing and querying data in flexible

manner.

20. ITNTH{T TG FIFeeaY & fohal T Tl &l THERT |

Explain any four advantages of computerized accounting software.

21.  “F i o € 2 feele i | i 9 g v = & 2

What is meant by a “Form” ? How ‘Split Form’ is different from ‘Simple Form’ ?

22. AR % 3 YR H AW Fdld U THART ST SgsuanTeharan a2 fafm =Ml w thet g0
T ATEGIID TS hl SATAHATS Bt T H & |

Name and explain the type of software which meets the requirements of large business

organizations with multi-users and scattered locations.
67/1/2 22



23. SR HIHIST & TRETT i & o1l T S aret =Xt 1 Seoid ity |

State the steps to be followed to change ‘Conditional Formatting’.
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